ML Meguro Language Center

JLPT N4 Kanji Quiz - 17/34 Answer
11 HEIX =l 3—ay Nz [ToT0ET,
(1) #HE 1 Lobrd 2 Loobry 3 5br) 4 HobrH
(2) = A 1 SALWIHA 2 LA 3 EALYITA 4ZALDITA
(3) 17T 1 WoT 2 Lo7T 3 XoC 4 LoT
2 LlEl HE7Y7T FOva—% RELE,
(1) LAAi 1 WEx 2 W) 3 ZoFEx WA
(2) HE§ 1 ONRLARIH 2 BIpBHONBL 3 Ad) LS A
(3) RFELE 1 HWEL- 2 HELE 3 xxFEL LAHEL-
13 WwWohid Zoo & A TT L,
(1) WVWouhH 1 An[ 2 An 3 o pNJE|
(2) &% 19k 2 3 4 H
(3) A 1 K 2 A 3 y&l
M4 IZhATIHEHE SLwH)SATT, FNTIE ZhFEEAL,
(1) I2hi 1 —H 2 3 4 TR
(2) HLwHrIsSA 1 A+ 2 KT 3 KR+4 A+4y
(3) 7=vFEHA 1 FoFEHA 2 RUEHEA 3 BUEEA JEVEH A
M5 ZpExd HVhAR-RE LABLIYE BLXTIEEN,
(1) %z 1 4w 2 i 3 %R & Hif
(2) FV N> 1 E4AHAHR 2 AHHA 3 AFEAH A HAE4HE
(3) LABLI) 1 AE 2 BE 3 R 5 R




